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PHY 111 \

Homework 1sed# 3

Student name: Student ID:

1. Write the number of the significant figures in the following numbers:

a. 0.098050 5

b. 24300 + 20 Y

c. 12.02021 2

d. 0.00021015 5

e. 310278 x 105 & #
f. 4109.0051+0.0006 g

2. Astudent measured the radius of a sphere (r) 8 times as follows : 3.31, 3.41, 3.26,
3.20, 3.44, 3.35, 3.25 and 3.43 in cm. Find:

a. The best estimate value of the radius of the sphere. = 3,373 | 1
b. Th le standard deviation in the radius of sph - il "
! e sample standard deviation in the radius ot sp ere.£ — O‘/Q/q, &

¢. The radius of sphere in correct form (r &+ Ar). '5:-1; & 0090672 ¢ (C- 03)

ik
(2335008 [z 3.33,003) ¢—

3. The radius of circle is measured to be (5.337 £ 0.005) cm. Find the area of circle.

A=7r* _u BA =237 80 ) 99 yy 01F e i
- 2 = A
=70~ 7 (537 =99. Y334 cm”

AR = 277« 5.33F% 0.005 =0.l4F=H 0.7

4. Find the uncertainty (AR) expression for the following calculated values :

by . 5 a. R(x,y,2) =sin(x® —yz)  a« ¥
xR DY 4 BJ? bz = Cos(xty ) 3x2/ s (x - 52)12/ 505(‘( - “52) J/

o
b. R(x,y,2) =Z;f 31(_@5(;( 292)% 2 cos( 'ywdj
@ER. 35 Cas(x 3?)W(iﬁ)aﬁj+5@s(xﬂjz D;\
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PHY 111

Quiz 1sec#3

Student name:

’p/ 1. Write the number of the significant figures in the following numbers:

0.09050 Y /

243000 +200 Y
12.020210 §& /}
0.0002115 Y W
3.102780 x 1075 2
4109.051+0.006 72 /

22510 i
2M30 /0 + 2xle

e - Yo - ol

</} . The radius (r) of right cylinder (%< &l saul) js measured to be (3.27 £ 0.05) cm, and its
hight(L) is founded (8.41 £ 0.03)cm Find the surface area of the cylinder (A + AA).

ur: sufé(a ﬂnga 2: Qares oj/c,(;/e + c»rza»-/s/m( }J@‘/?j

= 20 Tr% 29rh _ 27/.{(3.:;).4. 274322 (84) = 23 5% DA
Dﬁl -~ e }/; ; ﬂ

-

Y ___,_2_[:4-9/
ﬂa_r- = i

£P+g1 e ol = 0.05 , 003 —5p8 =Y.52
L 2W 34

o\ Find the uncertainty (AR) expression for the following calculated values :
e )
a. R(x,y,z) =y*+5In(2x = 2°)

%Q M&x+dﬁ9j Jﬁpz—gmmxfzjﬁj+?z:) 32 D2

DR = 10 1n (2« 2)Dx+2jﬁﬁr!5WM/ﬁDR'f9+ In (2¢ 2)[0/”(% 2)ox +20Y
R Z\'3

Ub. R(x, ¥,2) == —15ln(2x- 2;}2 D?J

ﬁgz’f‘" Dy—i—

4 Answer the two followm estion about todafs experiment :

1 l 7 a) What is meaning of “conservation of linear momentum “, write the law and
explam all symbolsinit ? it posns ,&&f B basy pavertion i Cm;u‘u{ Jgﬂm an/‘i#ﬁ/
What are the physical quantity you will measure it today? P &
t ,‘

mas; v %éé/




PHY 111
Quiz 2sec#3 G
=2
Student name: ] :
I d
1. Write the reading of the Vernier caliper and MicromW
d.
#4.43.30
Y 2,20 mm
b.
£%.65
c.
=30 S
15.50 = > 10 lE=""iox 3
S2Em 18 O == oY
ﬁ: 020 W T lll T|!EI|'|1 I|1lll|1|5 2 (5, 70 (i)
g o B Fa e
——110 /
T e =
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29" 0.3 : LlEE— 35 pe
== 30 : 8 m n9
8. 2% mm == ;
—— | 25
= =
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2. Inthe density of liquid experiment, one of students measured L, = 15.8 cm,
L, = 18.9 cm, also he estimated the quantities A;= 0.2 ¢cm, A,= 0.3 cm, and
A= 0.1 cm , assuming the density of water p; = 1.04 gm/cm?, Find the density of
liquid p, ( with uncertainty )

bt b 0 SR, N

g

f,z 'Lz-' ¥ Lz Cm? W
0.3l ol

EZ e ‘_:ﬁ(
Y . DLy B %ﬁflzg(g—‘i*ﬂ =095
A s e 158 184

302 La L2

= 0.
Pz %= D ?2

= @i’ﬁ £ O’D 4 mAmf

3. In the todays experiment: Hg/
a) What is the aim of the experiment? Ga/u-(pdé// /Ca/ /énp){ ﬂc/ convex éﬂﬂ‘u

b) What is the graph you will draw in the experiment and what are the quantlty a lens

will you calculate 2

J}:{- VA ,\L_—. J/Z( C:‘)t\cn/"l-‘/n'i S ap |
/'/(dt/;w
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PHY 111

Quiz3sec#3

Student name: Student ID:

1. Consider the following graph ofﬁ vsi from the focal length of convex lens experiment,
and let Av = Au = 0.16 cm , what is the focal length of the lens (f + Af)?

IV 07 |
i
l

0.06 \
|
0.04

0.01 - e \
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1/u

= DU = 0lb em
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C=hh = E Y5

= O.O? C'm;:»(—"' “{ 2850”

‘O()/cm_.(é, gf{ (v

=, %3 J0.025,00%)

_\ -
w 2Ig, @, {28,5?/3?_33)
<

O _pu sy => DE = 80K
F e TSR

o DF = 00814 =008 |em

ol {1598 +008 Jon




2. The speed of light in medium 1 (v;)is 225000 km/sec,let 6, = 38.7°, 6, = 20.4°
and using the speed of light in vacuum ¢ = 300000 km/sec,

Eind medium 1
a) The refraction indices of medium1 and medium 27? 0 :
b) The speed of light in medium 2 ( v,) in km/sec unit? - yelocky ¥
L)Jn predlim = 22 EODO kh%(( CQ:ZB-?'O velocity v,
' i . medium 2 0
Uin vecean = 500000 e/ A9, =20 Y 2

/\1 Sf’\(f') = Hﬁ,(”"(g.\ = /u, 9;’;~,(C9J = }J}(_S:""_C_gd }
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